MATH 152 Quiz #2 02/01/2005

Name Section

NOTE: You may NOT use a calculator for this quiz.

Match each of the following functions with its derivative (1 point each):

f(x) f'(x)
1) sin x b a. 1/x
2) COS X _d b. COS X
3) e* _Cc__ C. e*
4) In x _a d. —sin X

Evaluate the following derivative and simplify as much as possible (s points):

5) D{szln x—x%i}

X+3

=2. 2 - 21+ D X

2 Dx[x Inx] Dx[x ]+ X[x+3}
=2-(x%-D,[Inx]+ D, [x*]- Inx) - 2x + (X+3)'DX[X]_X2' D,[x+3]

(x+3)
:2-(x2-£+2x-lnx)—2x+—()(Jr?’)'l_zx'1
X (x+3)
=2-(x+2xInx) - 2x + )E;fg_)zx
=2X+4xInx - 2x + 3
(x +3)

=|4xIn X+

—~

X+ 3)°

section 9 formulas for obtaining derivatives



MATH 152 Quiz #2 02/01/2005

Name Section

NOTE: You may NOT use a calculator for this quiz.

Match each of the following functions with its derivative (1 point each):

f(x) f'(x)
1) In x _d a. —sin x
2) e b b. e
3) COS X _a C. COS X
4) sin x _Cc__ d. 1/x

Evaluate the following derivative and simplify as much as possible (s points):

5) D{3x3lnx—x3+ X }
X+2

-3.D | Inx|- D [x* X
=3 Dx[x Inx] Dx[x ]+ Dx{x+2}

(x+2)-D,[x]-x-D,[x+2]

:3-(x3~DX[Inx]+ DX[XS]-|I’1X)—3X2 + (X+2)2

:3-(x3-£+3x2-lnxj -3 + w
X (x+2)

X+2—X
(x+2)°

=3-(x2+3x%Inx) - 3x% +

=3x>+9x%Inx - 3x® +

—

x+2)

=9%x%Inx+

—

x+2)

section 9 formulas for obtaining derivatives



